
1) 3300 ÷ 100

Answer: ____________

2) (-171) ÷ (-19)

Answer: ____________

3) Find area of 
rectangle having 
sides a = 353 ft 
and b = 266 ft

Answer: ____________

4) 827 + (-372)

Answer: ____________

5) Find the value of 's' by completing the 
square of the following equation: 2 + 
8s + 15

Answer: ____________

6) (8 x 58) - (7 x 13)

Answer: ____________

7) 'What is the probability of rolling 
factors of 5.when rolling a dice

Answer: ____________

8) (2 x 45) / (2 x 5-1)

Answer: ____________

9) 414/16 x 615/19

Answer: ____________

10) 826 - 349

Answer: ____________

11) Find the value of 'q' by completing 
the square of the following equation: 
2 + 6q + 9

Answer: ____________

12) 903.45 ÷ 28.5

Answer: ____________

13) $239.00 earning 7.3% compound 
interest for 7 years.

Answer: ____________

14) 2600 ÷ 100

Answer: ____________

15) (10 + 14 x 9) - 6

Answer: ____________
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16) Find area of square 
having each side (s)
equals 418 in

Answer: ____________

17) 8   8/18 - 15   1/2

Answer: ____________

18) A number was shared in the ratio 
2:50. The smaller share was 37. 
What was the larger amount?

Answer: ____________

19) Increase 186 by 1/62

Answer: ____________

20) Increase 186 by 1/62

Answer: ____________

21) Increase 186 by 1/62

Answer: ____________

22) 05:56 am To 11:46 am

Answer: ____________

23)
28

Volume of Cone 
25

Answer: ____________

24) Convert the following mixed number 
1119/8 into an improper fraction.

Answer: ____________

25) Find perimeter of 
rectangle having 
sides a = 832 cm 
and b = 781 cm

Answer: ____________

26) Find perimeter of 
triangle
h = 643 , a = 769 
cm,
b = 804 cm, c = 
825cm

Answer: ____________

27) Factorise 9f2 + 20f + 11

Answer: ____________

28) $93.00 earning 1.2% compound 
interest for 6 years.

Answer: ____________

29)

'Name the type of angle.

Answer: ____________

30) Increase 30 by 3/10

Answer: ____________
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31) Convert the following improper 
fraction 92/5 + 312/13 into a mixed 
number

Answer: ____________

32) Convert the following improper 
fraction 92/5 + 312/13 into a mixed 
number

Answer: ____________

33) Convert the following improper 
fraction 92/5 + 312/13 into a mixed 
number

Answer: ____________

34) (2 x 14) - (10 x 1-1)

Answer: ____________

35) (2 x 14) - (10 x 1-1)

Answer: ____________

36) 06:47 am To 11:11 am

Answer: ____________

37) 161/17 x 53/4

Answer: ____________

38) Convert the following mixed number 
610/16 into an improper fraction.

Answer: ____________

39) Find perimeter of 
rectangle having 
sides a = 275 m 
and b = 184 m

Answer: ____________

40) Find the mean of the following set of data:

0, 12, 19, 0.5, 0.5, 39

Answer: ____________

41) (-330) ÷ 30

Answer: ____________

42) Find the percentage change from 8 to 
62

Answer: ____________

43) 'What is the probability of rolling a 
number less than 1.when rolling a 
dice

Answer: ____________

44)
Find the next three numbers in 
the sequence
48,51,204,207,828,831,3324__,__,__

Answer: ____________

45)
Find the next three numbers in 
the sequence
48,51,204,207,828,831,3324__,__,__

Answer: ____________
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46) Increase 27 by 62%

Answer: ____________

47)
Find the next three numbers in 
the sequence
45,38,57,50,69,62,81__,__,__

Answer: ____________

48) What would you multiply by to 
increase an amount by 48%?

Answer: ____________

49) Find the mean of the following set of data:

0.7, 0.8, 0.8, 0.4

Answer: ____________

50) A number was shared in the ratio 
47:12. The smaller share was 48. 
What was the larger amount?

Answer: ____________

Total: ___ / 50
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Answers:

1) 33 2) 9 3) 93898ft 4) 455 5) (s + 4)2 - 1 6) 3124993 7) 1/3

8) 5120 9) 3315/152 10) 477 11) (q + 3)2 12) 31.7 13) $391.38 14) 26

15) 16) 174724in 17) 141/18 18) 925 19) 189 20) 189 21) 189

22) 05 Hours 50 Mins 23) 18325.95714594 24) 107/8 25) 3226cm 26) 2398cm 27) (9f + 11)(f + 1) 28) $99.90

29) Obtuse 30) 39 31) 1321/65 32) 1321/65 33) 1321/65 34) -8 35) -8

36) 04 Hours 24 Mins 37) 9223/68 38) 53/8 39) 918m 40) 11.83 41) -11 42) 675%

43) 0/1 44) 3327,13308,13311, 45) 3327,13308,13311, 46) 43.74 47) 74,93,86, 48) 1.48 49) 0.68

50) 188
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